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 1 2 3 4 5 6 

t1,    150 70 70 70 60 60 
t2,    47 35 35 35 35 30 
t  ,    5 5 20 20 5 5 
d , /   3,5 3,5 10,5 10,5 3,5 3,5 

h , /   13,8 13,8 47 47 13,8 13,8 
d2, /   58,8 29,5 29,5 29,5 29,5 22,0 

h2, /   [5] 199,7 111 111 111 111 86,4 
L ,, /   [5] 282 628 817 817 742 742 

 , /   –1336 –1300 –1300 –800 –800 –800 
d1, /  (1) 30,78 20,0 20,0 18,6 21,7 12,75 

h1, /   [5] 237,1 123,4 123,4 119,6 117,4 93,9 
L , /  (3) 176,5 348 516 571 383 516 
L , /  (4) 127,5 476 387 314 734 383 
L, /  (5) 304 824 903 885 1117 899 

k  (6) 0,42 0,58 0,43 0,35 0,66 0,43 
h3, /  (8) 91,9 70 74,5 69,4 77,95 45,05 

d3, /  (9) 26,7 18,5 18,7 17,15 20,7 11,45 
 t3,  (10) 22,64 22,34 26,45 25,25 24.8 15,75 

q , /  (11) 5210 5640 5170 4630 5090 5320 
q , /  (12) 5930 7720 5930 5160 7920 6620 

b, % (13) 12,2 27,0 12,8 10,3 35,7 19,6 




